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I. Choose the correct form.

1. One of the best ways of keeping the speed steady is (having used/using) a computer for this purpose. 

2. The researcher’s (having made/being made) a mistake in his calculations influences the results of his laboratory’s experimental study.

3. His (having been measured/having measured) the distance will enable him to calculate the intensity of light.

4. Samuel Morse’s hobby was (experimenting/being experimented)  with electricity.
II. Match the words with the similar meaning from Column A and Column B.

             Column A                    Column B

            amount (n)                   ordinary (adj) 

          . conventional (adj)        quantity (n)

            currently (adv)              replace (v) 

            substitute (v)                 rate (n)

            velocity (n)                   at present (prep.phr)
III. Fill in the gaps with the words in the box.

	currently        jets           disadvantage

   announced   mounted   propeller             

                 


Specialists in many countries are ……. (1) working on new propeller engines. They are considered to be much more  economical and less noisy than …….(2). The only ……. (3) is that the propeller planes fly slower than jet planes. However, it has recently been ……. (4)  that specialists succeeded in solving this problem. As a result a ventilator engine with a ……. (5) of ten fibre-glass blades has been built, each being five meters long. It will be ……. (6) in the experimental passenger plane.    
IV. Translate into Russian.
1. On graduating from our University new engineers will work in different fields of modern engineering.

2. By using supercomputers it is possible to avoid making mistakes in extremely complicated thermodynamic computations.

3. We learnt of the engineers’ having invented a wheel-computerized system that monitors and adjusts air-pressure in tyres.

4. The cosmonauts are thinking of increasing their daily exercise by 30 minutes.

5. Ecologists insist on taking urgent (неотложный) measures to keep Moscow air as clean as possible.
V. Read the statements carefully and translate the given questions into English.

1. To build a reliable hypersonic plane one has to overcome a lot of technological problems.

 Какие трудности придется преодолеть, чтобы создать надежный гиперзвуковой самолет?

2. A new submersible is capable of descending to the depth of 3.300 feet.

Как глубоко может опускаться новый подводный аппарат? 

